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Solutions to smp-1

Problem quickname: 1718

1)

Divide by two.
a) 52 +2 =26
d) b0 +2=25
g) b8 +2=29
j)18+2=9
2)

Divide by two.
a) 174 +2 =87
d) 108 +2 =54
g) 116 +2 =58
j) 162 -2 =281
3)

Divide by two.
a) 80 +2 =40
d) 78 +2=239
4)

Divide by two.
a)8+2=4

e) 90 +2 =45
h) 54 =2 =27
Good Luck!
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Worksheet
b) 56 <+ 2 = 28 c) 64 +2 =32
e) 54 +2 =27 f)22+2=11
h) 100 +2 = 50 i) 36 +2 =18
b) 142 + 2 =71 ¢) 110 + 2 = 55
e) 128 2 =64 )30 +2=15
h)32+2=16 i)14+2=7
b) 24 +2 =12 €)32+2=16
b) 22 +2 =11 ¢) 62 +2 =31
f) 26 -2 =13 g) 24 +2=12
i) 68 +2 =234 j) 96 -2 =48
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d)72+2=36
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